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1. Choose the correct answer from the
following : 1x8=8

(a) One supporter of subaltern perspective
is
iy B. S. Cohn
(i D. N. Dhanagare
(i) S. Kaviraj

(iv) R. Guha
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(b)

(@)

(e)

P25/232

The author of the book, The Imaginary
Institution of India is
(i) S. Kaviraj
(i) Risley
(i) R. Guha
(iv) M. N. Srinivas
One supporter of political theory of
caste system is
(i) Abbe Dubois
(i) Nesfield
(iii) Hobert
(iv) Max Weber
The author of the
Organization in India is
(i) Kingsley Davis
(i) Irawati Karve
(i) Leela Dube
(iv) G.S. Ghurye

book, Kinship

In which year the British Government
enacted the Government of India Act?

(i) 1931
(i) 1935
(iii) 1938
(iv) 1942

( Continued )

(3)

() The author of the book, Caste System in

India is

(i) Risley

(i) Nesfield

(iii) Irawati Karve

(iv) M. N. Srinivas

(g) The author of the book, Recent Trends in

Indian Nationalism (1960) is
(i) A.R. Desai
(i) Irawati Karve
(i) G.S. Ghurye
(iv) Risley
(h) The neo-industrial policy
started in the year
(i) 1990
(i) 1991
(iii) 1992
(iv) 1993

2. Write short notes on any four of the fo
(each within 150 words) :
(a) Colonial discourse
(b) Characteristics of tribe
(c) Dominant caste

(d) Types of kinship

in India was

llowing
4x4=16

{Tun1Chﬂr)
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(e)
(
(g)

(4)

Meaning of labour
Religion and society

Hindu religion

3. Answer any four of the following questions

(each within 500 words) :

(@)

(b)

(c)

(@)

(e)

(g)
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What do you mean by nationalist
discourse? Discuss about the formation

of nationalist discourse. 4+10=

What do you mean by subaltern
studies? Discuss the importance of

subaltern studies in India. 4+10=

Define caste. Discuss the main
characteristics of Indian caste system.

4+10=

What is industrialism? Discuss about

the features of industrialism. 4+10=

Define village. Discuss the main

characteristics of Indian villages. 4+10=

What do you mean by kinship system?
Discuss the importance of kinship

system. 4+10=

“Hindu religion is a complex religion.”
Discuss this statement.

* ok ok

14x4=

56
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